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MATHS

BOOKS - PSEB (PUNJABI MEDIUM)

fHdinit Jyrer

1. Iacime 3% fég ffq I3g9sa 9, fame
fryg (- 4, 5), (0, 7), (5,-5) M3 (- 4, -2) I&| feATT
Y3Jes &l u3T I


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_sX5RP5AD8k5u

° Watch Video Solution

2. i Azt {337 fAAet 37 2a 9, & wrag y-ud
&8 fan 3gt Hutst J {9 for wiarg & WO ys fhe
J1f3gw € fHug u3T 33d|

° Watch Video Solution

3.P (a:l, yl) ng' Q (:132, y2) @@H@Bﬁgﬁ@
&d e: (i) PQ y-gd & AHT3d J1 (ii) PQ x-Jd &

HH33 J

| e |


https://dl.doubtnut.com/l/_sX5RP5AD8k5u
https://dl.doubtnut.com/l/_FKCFvvZyvsSx
https://dl.doubtnut.com/l/_uKOxY359IoT5

& Watch Video Solution I

4.x-g3 3 8 fdg 3T a3 #t figntt (7, 6) M3 (3, 4)
3 9J79d gdi 3 JI

o Watch Video Solution

5. f8d JuT €t @8 U3T 9d 7 4SS g w3 fien p
(0,4) M3 B (8, 0) & HBE= &8 Ju™ ¥3 € HU
fig fed Swet

o Watch Video Solution



https://dl.doubtnut.com/l/_uKOxY359IoT5
https://dl.doubtnut.com/l/_GxOVQBniSHSS
https://dl.doubtnut.com/l/_7E0vV0MWo0Bc

6. ufeardign faBan €t ga3 di3 fast feu@ fa
fdg (4, 4), (3, 5) M3 (-1,-1) AHAS 337 € fg

dol

o Watch Video Solution

7. x € H& Y37 d4 A St e (x, -1), (2, 1) M3 (4,
5) AHIHT d<|

° Watch Video Solution



https://dl.doubtnut.com/l/_TReOJoj2N72X
https://dl.doubtnut.com/l/_idwcQp9xHV2d

8.Tdt 34 €t 293 i3 faa feu@ fa e (- 2,1),

(4, 0), (3, 3) M3 (-3, 2) AHT3d 9331 © fHYT I&|

° Watch Video Solution

9. x-gd M3 fdgnt (3,1) ,(4,2) & fHeBs 3 Tt

4T 2 fegdrg d< Y3 94|

o Watch Video Solution



https://dl.doubtnut.com/l/_gvDo7BFmrdWV
https://dl.doubtnut.com/l/_7YDlyEHFN5eK

10. faR oy &1 €', fan da oy &t €5 3 Taiet

JdI Add ©& ¢ fegag © a< © Jdc 1/3 d 3t

JuTET It BT UST Jg |

o Watch Video Solution

N8I ™ (2, y1) M3 (h, k) €9 Swet I Ada
I & %< m Jd I foy€

k—y1=m(h—$1)

o Watch Video Solution



https://dl.doubtnut.com/l/_a8kRFEs2OXcF
https://dl.doubtnut.com/l/_8k3pGra9qWQ4
https://dl.doubtnut.com/l/_MJZpEP43m3KI

12. 749 135 f¢ (h, 0), (a, b) "3 (0, k) e Ty 3

Sesifmgfy 2+ 2 2
h k

° Watch Video Solution

13. I f&d €t mftage y3™ 99 1 &t \wast &

f3HC daet J:- B%E 1/2 &8 1 fHe (4,3) f&d

JuwEt J1

° Watch Video Solution



https://dl.doubtnut.com/l/_MJZpEP43m3KI
https://dl.doubtnut.com/l/_hV9SnRDLtiWU

14, J5 189 &t AHlage u3™ od # &t 7a3t &

f3He Jdet d-E8e m &% 1 g (0, 0) f&d

BwEt J1

o Watch Video Solution

15. 35 &4 €t Atage u3™ 99 # &t w3t &

f3Hc adet d-fie (2, 24/3) féd Bwe et ni3
x-Jd &% 75° 3< 3 341 Jet I

o Watch Video Solution



https://dl.doubtnut.com/l/_7kQmLl4ADhq2
https://dl.doubtnut.com/l/_xuCU4MH9ddpq
https://dl.doubtnut.com/l/_TOxxJKKVde1i

16. I &9 &t AHiage u3T 99 A f&dt Hast &
H3HC daet J:- x-Jd & HS fig 3 e uA 3 fearet
€dl '3 dee T8l 3 w8 -2 T8

o Watch Video Solution

17. 35 &4 €t AHidaes U3 3d 7 f&dt Hast &
H3HC daet d:- y-gd § ya fig 3 2 feardt Gua
3 G&3HA x-Jd &% 30° T d< g8l de

o Watch Video Solution



https://dl.doubtnut.com/l/_TOxxJKKVde1i
https://dl.doubtnut.com/l/_zG5XuxGX6BRG
https://dl.doubtnut.com/l/_bKbW20iGlUTX

18. I &9 <t Aiage U3™ dd A f&dt Hast &
H3HC dat d:-fdgnf (-1, 1) M3 (2,4) fed Swet
G

o Watch Video Solution

19. I &9 <t AHiage u3T dd A f&dt Hast &
H3HC dadl J:-:4s fig 3 Sa3Hd gat 5 fearet
3 BY €M I&BHA x93 &S 30° T ac g7

Jel

o Watch Video Solution



https://dl.doubtnut.com/l/_bKbW20iGlUTX
https://dl.doubtnut.com/l/_oxKp1VlRWQet
https://dl.doubtnut.com/l/_90wHqATzoyOI

20. A PQR=E I P (2,1),0(-2,3) M3 R (4,5)

J&| TAYa R 129 Swdt Higar Tt Avtades u3T 34|

o Watch Video Solution

21. 8H Ju" €t AHlade U3T a4 A fHg (-3,5) fed
BW gdt I M3 fHenti (2, 5) »3 (-3, 6) fed Bwe
S YT 3 B9 I

o Watch Video Solution



https://dl.doubtnut.com/l/_90wHqATzoyOI
https://dl.doubtnut.com/l/_GHW2dBWvSv9p

22. 8 Iy fignf (1,0) 73 (2,3) & HBEeE '3 9

U ¥3 3 89 w3 RS 1: n feg 3¢t JIgyr €t
AHIags U3 33|

o Watch Video Solution

23. ¥ oy <t mHlage u3T ad 1 fodew i

gfgnt & garad »i3ad3 '3 dedt I m3 e (2,3)
fed Swet I

o Watch Video Solution



https://dl.doubtnut.com/l/_52PstDDh8fj2
https://dl.doubtnut.com/l/_2acEpVfSBwfj
https://dl.doubtnut.com/l/_JzJzpvvOxVrK

24. 34" €t AHiage u3T A9 # g (2,2) fed Bw
gdt I »3 gfgni '3 ni3gd3 de Idt I g T 13 9
Jl

o Watch Video Solution

25. 3ur  mitage Uz a3 A e (0,2) B Bureh
313 TS T T - I WG A1 e
S w3 yad & v fifg 3 37 & 2 feraret et
3 dedl de Iy & mldae gt u3T a4l

o Watch Video Solution



https://dl.doubtnut.com/l/_JzJzpvvOxVrK
https://dl.doubtnut.com/l/_NuG4a4RzUzH1

26. ffg Jur 3 ym fig 3 B9 ferd e (2,9) 3
fHzer 31 for 3y &t g U3 ad|

o Watch Video Solution

27.374 €t 83 ©1 Sgrel L (Hieg feg) RgHMA
3y C € ofud @8a J1 & yuar feg, Aad L=

124.942 37 C=20 M3 L=125134 37 C=110J1 LS C

< yei fEg 4|

o Watch Video Solution



https://dl.doubtnut.com/l/_2hZmjB1nVY6x
https://dl.doubtnut.com/l/_RIAsW2GHHNjl
https://dl.doubtnut.com/l/_TO3R67TgWmNZ

28. f¥a €9 339 & Hsd Jd Je3 980 fBea ©a

14 gue y3t f8eg m3 1220 &g €9 16 gue Y3

fBcg 29 AdeT J1 29Hs M3 Har feg ofya Heg
Hae J8 u3T g4 fa 8a gg ae3 17 que y3t fseg

&% fdar €0 29 HaeT J

o Watch Video Solution

29. P (a, b) gfgn € fegdad fEa U3 & Hu-
fifg 31 ﬁw@ﬁéwe‘mmaaz% + % — 23

o Watch Video Solution



https://dl.doubtnut.com/l/_TO3R67TgWmNZ
https://dl.doubtnut.com/l/_nmJjimpiXtuh

30.f8€ R (h, k) Gfgnf' € fegarg ffx QU U3 & 1:2
feg €3 J1 Iy &t Aatags U3 99|

° Watch Video Solution

31. U™ €1 AHlad<e € gg& & =33 ade J¢ fHyg
ad fd {35 e (3, 0), (- 2, -2) ™3 (8, 2) AHIHT TS|

o Watch Video Solution



https://dl.doubtnut.com/l/_frS4UcOAg3Pk
https://dl.doubtnut.com/l/_0uK8wDDE0Wuh

32. J& f&dl mitage § eBemi3ads gu feg
g8 m3 faat g8 M3 ynisads u3T J3d|

x+Ty=20

o Watch Video Solution

33. Jo f&dl mifage & eBemizads gu feg
g8 m3 faa’ g8 M3 ynisads u3T J3d|

6x +3y—5=0

o Watch Video Solution



https://dl.doubtnut.com/l/_InwawrgcFmSP
https://dl.doubtnut.com/l/_xitlssYmIO7i
https://dl.doubtnut.com/l/_Y1CGwr49YTQC

34. 35 &t mHlade § eBen3ads gu feg
g m3 fraat & g8 »i3 yni3ads u3T ad -

y=0.

o Watch Video Solution

35. I5 &4t mlage & mi3ads gu feg ge8 »i3
fegst @ gfat 3 nisgds u3T a4l

3 +2y—12 =20

o Watch Video Solution



https://dl.doubtnut.com/l/_Y1CGwr49YTQC
https://dl.doubtnut.com/l/_XZijBaNpZctX
https://dl.doubtnut.com/l/_WpAez027hOP0

36. IS 34l AHlade & »i3gds gu feg ge8 »i3
fega’ € gfomi 3 ni3d3 UsTad 42 — 3y = 6

o Watch Video Solution

37. 35 f&dt mftage & #i3aus gu fég ge8 »i3
fegs’ © gfan 3 ni3ad3 usTad1 3y + 2 = 0.

o Watch Video Solution

38. J5 f&5dl Ariage & &9 gu feg e8| feas e
Hs fig 3 gdt W3 fer 3 B9 M3 g&3HS x-Jd


https://dl.doubtnut.com/l/_WpAez027hOP0
https://dl.doubtnut.com/l/_3SuNsc17KdnW
https://dl.doubtnut.com/l/_houIl6BlveUh

fegagdeuzrdd-2 — 3y +8 =10

° Watch Video Solution

39. 5 &t milage & &9 gu feg ge8| fraa €
HS fig 3 gt M3 fer 3 89 M3 IESHS x-Jd
fegggdcuzrad-y —2 =0

° Watch Video Solution

40. I &t mitage $ &9 gu &g ge8) fega
df Y& fig 3 gdl 3 f&H 3 &89 »3 U&3HS x-Jd


https://dl.doubtnut.com/l/_houIl6BlveUh
https://dl.doubtnut.com/l/_ioljTlilIOYy
https://dl.doubtnut.com/l/_lsZbzXadXBX7

fegagdcuzradi-z — y = 4.

o Watch Video Solution

41.18¢ (1) T 12(z + 6) = 5(y — 2) 3 gl
y3T I3

° Watch Video Solution

42. xgd 3 B9 fig u3T =3 fAag &

Wi
3+ Z = 13 gdl 4 fearet

o Watch Video Solution



https://dl.doubtnut.com/l/_lsZbzXadXBX7
https://dl.doubtnut.com/l/_WyfWwmlQBcLL
https://dl.doubtnut.com/l/_v5mhiSxx9Lk6

43. AH3g Juel ¥ fegdd ¥l U3t 99

152 +8y — 34 =0mM3 152 + 8y + 31 =0

° Watch Video Solution

44. AH3d Jyel € fegdd ol U3 oI

(z+y) +p=0m3l(z+y) —r=0.

o Watch Video Solution



https://dl.doubtnut.com/l/_v5mhiSxx9Lk6
https://dl.doubtnut.com/l/_1nnYNoIthH26
https://dl.doubtnut.com/l/_TRq3ZZmLIQaA

45. JyT T wHladde u3T I3 H Iy
3r — 4y + 2 = 0 2 AH33 I »3 fE (-2,3) fed
BW gdt J|

o Watch Video Solution

46. Iy T WHladde u3T I3 H I
T —Ty+5=038gJn3 g (-2,3) 9 8w
Jdt I

o Watch Video Solution



https://dl.doubtnut.com/l/_AEZeeypZKt5e
https://dl.doubtnut.com/l/_cIl3Ccl78LNv
https://dl.doubtnut.com/l/_ifomuHC9Sa0N

47.9u< 3z +y=1mM3 z+,By=1 ¢

fegd’gd d< U3 34|

° Watch Video Solution

48. fgent (h,3) 3 (4, 1) €9 Bwe =&t Iy, o
7x — 9y — 19 = 0 S AHAS A= 3 deet J1 h &

HS Y37 d3|

° Watch Video Solution



https://dl.doubtnut.com/l/_ifomuHC9Sa0N
https://dl.doubtnut.com/l/_h2qqVoYtvwsC

49. fHy 39 fa g (z,,y,) €9 Jwe =&t i3
Ar + By+C =0 < HH139 T

A(x —x1) + B(y — y1) = 03I

o Watch Video Solution

50. fig (2,3) fed Sw g € Juef feg gn &

60° '3 S g5 Aad B Iy It g% 2 J, 3

gt 9uT €t AHladE U3 I3

o Watch Video Solution



https://dl.doubtnut.com/l/_Li7YH79z5a5G
https://dl.doubtnut.com/l/_GYJziuOUjquR
https://dl.doubtnut.com/l/_ruofGe8rNqog

51.f9gnt (3,4) M3 (-1,2) S HE B eF qurds €

B9 AHTSTHA ©f AHlade usT ad|

° Watch Video Solution

52.f9¢ (13) 334" 3z — 4y — 16 = 03 HE IIE
B4 & »ug fHg 2 foden #ig U3t 3d|

o Watch Video Solution



https://dl.doubtnut.com/l/_ruofGe8rNqog
https://dl.doubtnut.com/l/_nSWurbsyGVJt

53.§8ﬁgééﬂTy:mx+cgﬁaﬁH§ﬁg
(-1,2) 3 THBE I m M3 ¢ T HS U3 I3

° Watch Video Solution

54, A#dd p M3 q Y8 fdg 3 gHET oyl
xcos — ysinf = kcos 20 "3
z secl + ycos ecd = k,3 B9 St Sgrenft I,

sfHgadfap® + 4¢° = k%

o Watch Video Solution



https://dl.doubtnut.com/l/_QdKCsF2Aqesi
https://dl.doubtnut.com/l/_Dm5IDJG16w5J
https://dl.doubtnut.com/l/_f0bxFWJhwofP

55. \ ABC © fRYT A (2,3),B (4,.1) M3 C (1, 2),
&, fidd 3 Arave @t 37 3 He 89 ©f mflaas
3 BT U I

o Watch Video Solution

56. Had p U fig 3 67 gy € HS e 89

Baret Ie fAAe gignt' 3 »i3gd3 a M3 b, 3T feu@

11 1
ﬁ?:§+§.

o Watch Video Solution



https://dl.doubtnut.com/l/_f0bxFWJhwofP
https://dl.doubtnut.com/l/_Z9nRg2wbhCQn
https://dl.doubtnut.com/l/_exNQMoMJ4OJk

5. k ¥ Y8 y3r ad A BE
(k—3)z— (4-K)y+k —Tk+6=03x

gd @ ANT3g

o Watch Video Solution

5. k ¥ H® uy3¥ ad A SBE
(k—3)z— (4-K)y+k —Tk+6=0dy-

gd & ANT3g

o Watch Video Solution



https://dl.doubtnut.com/l/_exNQMoMJ4OJk
https://dl.doubtnut.com/l/_fxMqsuWw6hfJ

50, k € H® y3T dd faA B
(k—3)z— (4—K)y+k —Tk+6=07 -

5 fifg S Swet 31

o Watch Video Solution

60. 0 M3 p T U8 Y3' d4d, Add AMiade
zcosh + ysinf =pdd 3z +y+2=0%

B9 gy del

o Watch Video Solution



https://dl.doubtnut.com/l/_QFtknKhFpMmX
https://dl.doubtnut.com/l/_RZ2KbCoUx6Fr
https://dl.doubtnut.com/l/_Ka59DN5nDXv9

61. duTE dinft AHiaget usT d fAg, € glign 3

g M3g43T T 13 M3 IS gHE'T 1 M3 -6 I

° Watch Video Solution

62. yUd 3 Gu fao3d fig gs fAg <t our

Wi
3+ Z = 13 g4t 4 feardt 37

o Watch Video Solution



https://dl.doubtnut.com/l/_Ka59DN5nDXv9
https://dl.doubtnut.com/l/_JQf450uFY40T

63. fdenl (cos6,sinf) M3 (cos ¢, sing) &
fHsge 3 gt 9y v ys fie 3 gt usT ad|

° Watch Video Solution

64. 34" & AHldde U3" ad 7 y-9d & AHT3T I mi3
e ¢ —Ty+5=0M33z+y=0<2 dq<

fed fadt aret

° Watch Video Solution



https://dl.doubtnut.com/l/_5NAyBdDd6cya
https://dl.doubtnut.com/l/_Tu4vafpFINmz

65. 3w 7 + & =13 Bq, §n fifg 3 i

&1 AHlage u3T 94 fria fea y-gd S st 31

° Watch Video Solution

66.34™E y-x = 0, X + y = 0 M3 x-k = 0 TT g

39 T 43des U3T AJ|

o Watch Video Solution



https://dl.doubtnut.com/l/_JZWdteVRRcRj
https://dl.doubtnut.com/l/_iJqZU6mpoOCR

67 p T HS uy3T o3 A =
3r+y—2=0,pr+2y—3=20 n3

2x — y — 3 = 0 fig '3 dadint d<|

o Watch Video Solution

68. Hogd f3& dJuel fAag i mileas
Yy =mx + ¢y, Y = Mo + Cy w3
y = msz + cgHarHl d& 3 fou€@ {9

mi(co — ¢c3) + ma(cs —e1) + ma(ep — ) =0

° Watch Video Solution



https://dl.doubtnut.com/l/_Ckv0QD9FrueJ
https://dl.doubtnut.com/l/_dquyieCZtlyR

69. fig (3,2) fed Bwet »3 U™ x-2y=3 &S 45°
T A 98¢ T8 ouT & AHlade U3t a4l

o Watch Video Solution

70. " S AHlagc 3T ad d 4z + Ty — 3 =0
M3 2z —3y+1=0¢J< g &g Sw adt 9
3 faAe gfgn '3 »i3ad 3 AN™S J&|

o Watch Video Solution



https://dl.doubtnut.com/l/_dquyieCZtlyR
https://dl.doubtnut.com/l/_wlSFNpJTqlfE
https://dl.doubtnut.com/l/_TZq9MPccKnDm
https://dl.doubtnut.com/l/_lAVxWivTe0hp

71. feu® fa gy €t mitdge 7 U fHie fed B

I I M3 I y = mz + ¢ &B IS § g=GEl I,
J m =+ tan6 3

v limtané?

o Watch Video Solution

72.fgni (1)) 13 (5,7) S @ e Jur ¥s &
T x+y= 4 fan nigut3 fég €3t J?

o Watch Video Solution



https://dl.doubtnut.com/l/_lAVxWivTe0hp
https://dl.doubtnut.com/l/_YX6fAXOBYwV5

73. 34" 4z + Ty + 5 =0 €t f8g (1,2) 3 "
2z — y = 0 €t fer feg got usT ad|

° Watch Video Solution

74. AHJ<E 337 € da< € »i3 fhe (1,3) W3 (-4)
J&1f397 &t Bg grre’ € AHiads U3T 4|

o Watch Video Solution



https://dl.doubtnut.com/l/_1tC31ZYykfMd
https://dl.doubtnut.com/l/_O4QqLyhS82WC

75. g (3,8) € JuT x +3y=7 &8 yf3fdg frg Hae

Je Y37 g4 fa Iy ffa AuTgs Taus J|

° Watch Video Solution

76.A8d U y=3z +1M3 2y=2+3 €

T y= mx + 4 3B 3™ §JEd d, 3T m T US

Y3t dJ|

° Watch Video Solution



https://dl.doubtnut.com/l/_ck77dwpRRmsD
https://dl.doubtnut.com/l/_apvJAfdJXTEN

77. #Add = r+y—-5=0 3
3z — 2y + 7= 03 9% e P (x, y) € Bg3Hx
g € 13 gHH 10 JITIA'E 19 P Udr JuT 3
I&dr|

° Watch Video Solution

78. 34T ©t AHlade y3T &9 7 HAHI3T oyt
9z + 6y —T7T=0M33z+2y+6 =03 ANS

= 331

° Watch Video Solution



https://dl.doubtnut.com/l/_5KWtTvz1ts8X
https://dl.doubtnut.com/l/_RHzZRTy3NwT9

79. fowg fa (az—b2,0) 3
(- VeP=#,0) flor Y A
%cose+%sine:1 3 iR o Sg I
Sgrenft T gIeaes b 3l

o Watch Video Solution

80. fea fenast mflaas’ 22 — 3y +4 =0 "3
3z + 4y — 5 = 0 3 9 HIS IHt Ugi & gre fig

39F I 3 AfladE 6z — Ty + 8 =02 g '3


https://dl.doubtnut.com/l/_RHzZRTy3NwT9
https://dl.doubtnut.com/l/_lAb36cNfMrIp
https://dl.doubtnut.com/l/_6pwPni1R7mAh

e 3 We A feg ydos Ider JI8H T

nUSTEl et Ug € AHtage 3T ad|

° Watch Video Solution

1. el € g8E U3t dd H figntt (3,-2) 3 (-1,4)
fed w3

o Watch Video Solution



https://dl.doubtnut.com/l/_6pwPni1R7mAh
https://dl.doubtnut.com/l/_ZNsiXcGSxj6A

2. 9yTel € g%TE U3T I9 ° fientt (3, - 2) 3 (7, -
2) f&d et

o Watch Video Solution

3. JuTeEl €t g%e U3T dd 7 et (3, - 2) M3 (3,
4) f&d Bwet I

o Watch Video Solution



https://dl.doubtnut.com/l/_0gOrzvQb3BMJ
https://dl.doubtnut.com/l/_XVGudTaXpAl9

4. YT T BB Y3 dd 1 I&BHA x93 '3 60°

T dc gar6et d

° Watch Video Solution

5.2 Jyrei @ fegad 3 g 3 w3 s dyr <t
m%ﬁgﬂﬁw@rmwaél

o Watch Video Solution



https://dl.doubtnut.com/l/_TWu6JxtGIU2P
https://dl.doubtnut.com/l/_ZAWsw8T7n1nl

6. (-2, 6) M3 (4, 8) fHegnf fed Bwe =&t T (8,
12) M3 (x, 24) fgn fed Bwe T8t oy 3 89 J|

X T U8 U3T aJ|

o Watch Video Solution

7.135 g P (h, k), Q (21, y1) M3 R (29, yo) TS
gt our 3 fig Ta fey8@ 14

(h - 331)(y2 - yl) — (k - yl)(l’z — 5'31)-

o Watch Video Solution



https://dl.doubtnut.com/l/_X7buDqA7zHHq
https://dl.doubtnut.com/l/_BMfFELfz7QgO
https://dl.doubtnut.com/l/_EUbyqONxNakz

8.1d3d 10.9 1&g, 9ut a1t & AH »3 ol & vy
fa3T I A w3 gdt € @ AE's A T= 0D = 2 W3

A T=3, D =8 J ©dd dI3 JI° I&| BF'E T ga

€ YUdT gde I, ISt € f5wH u3T 93 mige'3 far

Yad gdl, A 3 fgga daet J

Y
A

(T, 1)

gat (D)

> X

o Watch Video Solution



https://dl.doubtnut.com/l/_EUbyqONxNakz

9. gign® & AHT3T 3 e (- 2, 3) &9 Bweh
JyTet et AHlaas 54|

o Watch Video Solution

10. 3y Tt Afldgs 3T a3 1 (- 2, 3) feg BwLt I
w3 AT €% - 4 J

o Watch Video Solution



https://dl.doubtnut.com/l/_EUbyqONxNakz
https://dl.doubtnut.com/l/_vQ5CFJ344yAg
https://dl.doubtnut.com/l/_5w5ct7m2zbnO

11. 34" €t AHiage f&a 7 f&ent (1, -1) »3 (3, 5)
fed Bwet Il

° Watch Video Solution

12. g5 Jue o mAdlade fBd fAm =t
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